
 1

ISO 11154-E

Kit 187008
VOLKSWAGEN Caddy, 4-dr MPV, 04-15, 16–20
VOLKSWAGEN Caddy, 5-dr MPV, 04-15,  16–20
VOLKSWAGEN Caddy, 4-dr Van, 04-15, 16–20
VOLKSWAGEN Caddy, 5-dr Van, 04-15, 16–20
VOLKSWAGEN Caddy Maxi, 4-dr MPV, 08-15, 16–20
VOLKSWAGEN Caddy Maxi, 5-dr MPV, 08-15, 16–20
VOLKSWAGEN Caddy Maxi, 4-dr Van, 08-15, 16–20
VOLKSWAGEN Caddy Maxi, 5-dr Van, 08-15, 16–20

80 km/h
50 Mph

Max	 130 km/h 
	 80 Mph

5561355003

2 4

Max: 100 kg 
/ 220 lbs

7 kg 
15,4 Ibs

Max: 150 kg 
/ 330 lbs10,5 kg 

21,1 Ibs



55613550032

289

010

291

004004

291

M8x55 mm
M8x55 mm

M8x45 mm M8x45 mm

KIT
1

1

2

1

Safety

x2004

x1010

x1011

FL FR

RL RR

M8x55 mm

x2
50108

M8x45 mm

x2
51344

This kit is only for vehicles with fixpoint mounting.

x2
291

x1
290

x1289

x1
50229

RRRL

FL FR

290

011



5561355003 3

1

2

A B

x4x4

3

6 mm

x2

x2

M8x55 mm

Instructions

2 2

FL FR

8 Nm

x2
6 mmM8x45 mm

x2

RL RR

8 Nm



55613550034

760
x2

x2

EXT.
PAD

x1

010 011

760

289 290
M8x55 mm

M8x55 mm

M8x55 mm

M8x55 mm

M8x45 mm M8x45 mm

This kit is only for vehicles with fixpoint mounting.

KIT
1

1

2

1

Safety FL FR

RL RR

291

291

004004

291

291

004 004

760

EXT.
PAD

EXT.
PAD

x2004

x1010

x1011

M8x55 mm

x2
50108

M8x45 mm

x2
51344

x1
50229x2

291

x1
290

x1289



5561355003 5

1

A B

x6x6

2

3

6 mm

x2

x2

M8x55 mm

8 Nm

x2
6 mmM8x45 mm

x2

8 Nm



55613550036

A B

6 mm

x2

M8x55 mm

4 8 Nm

x2

Instructions

2 2

1 2 3

KIT
187008

KIT
187008

EXT. 
PAD

760



5561355003 7



Thule Sweden AB, Borggatan 5
335 73 Hillerstorp, SWEDEN

www.thule.cominfo@thule.com

 © Thule Group 2022. All rights reserved. 5561355003


